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Question 1.Select the related word/letters/numbers from the given alternatives:
& T Rrepoul F & Hafoud rea/376RI/EEAT & AT |
Electric Current : Ampere :: Weight : ?

g vare : WP 1 AR ?
Options:

1) Scale

Thel

2) Kilogram

fpettamsT

3) Commaodity

axg

4) Measurement
AT

Correct Answer: Kilogram

fopettammeT

Candidate Answer: Measurement
AT

Question 2.Select the related word/letters/numbers from the given alternatives:
& T fopeut 3 & Hafeud Qea/HaWi/HEar oI g

ACXZ : BDWY :: CEVX : ?

Options:

1) DFUZ

2) DFUW

3) DGUW

4) DFUV
Correct Answer: DFUW
Candidate Answer: DFUW

Question 3.Select the related word/letters/numbers from the given alternatives:
& 7 faepeul 3 & Hafeud ree)/ e /dEar I gfaw|

37:65::50:7

Options:

1)75

2)79

3)82

4) 87
Correct Answer: 82
Candidate Answer: 79
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

eafaf@d uar o Qe o Ravedt 3 & fawer ereg/31am/dean @ gfaw ?
Options:

1) Thermometer

YA

2) Barometer

R

3) Diameter

ST

4) Hygrometer

REDIEIIEY

Correct Answer: Diameter

Bpieicey

Candidate Answer: Thermometer

TATHR

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

reafaf@d war of fGw arv Revedt 3 & fawer e/ 31a/wen @ gfaw ?

Options:
1) JF

2) UQ
3)PL

4) XS
Correct Answer: XS
Candidate Answer: XS

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

AFfaf@d usr 3 feu av Reveul 3 O fawa ree/316T/dear & Jfav ?

Options:
1) 46-52

2) 56-62
3) 66-72

4) 76-84
Correct Answer: 76-84
Candidate Answer: 76-84

Question 7.Arrange the following words as per their order in the dictionary

RAFafafld el @ et # T 71w e & HgaR fofew ?
1. Embody 2. Embrace 3. Embitter 4.Emblem 5. Embroidery
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Options:
1)3,4,2,51

2)4,2,51,3
3)4,1,2,5,3

4)3,4,1,2,5
Correct Answer: 3,4,1,2,5
Candidate Answer: 3,4, 1, 2,5

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series._

eafaf@d usr 3 v 3 G o §, ored o ug oF €1 fiw arw Risvedt @ o w6 fwmew giaw St g s qu s ?
CBA, FED, IHG, LKJ, ?

Options:
1) PRT

2) WUT
3) ONM

4) 7YX
Correct Answer: ONM
Candidate Answer: ONM

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

eafaf@d usr 3 v 3 G o §, ored v ug oF €1 fow arw Risvedt @ e w6 fwmew giaw St g S qua ?
6, 12, 36, 144, 720, 4320, ?

Options:
1) 30420

2) 30240
3) 31240

4) 32240
Correct Answer: 30240
Candidate Answer: [ NOT ANSWERED ]

Question 10.Introducing a woman, a man said "Her mother is the only daughter of my mother-in-law". How is the man related to the woman?

Teh Hitell BT TREI ol §T YoV & el " o SHehT AT A HE &l Teh AT AT & 1" T BT Aol o A1 A1 HAY § ?
Options:

1) Son

9

2) Brother

s

3) Husband

ufy

4) Father

yar

Correct Answer: Father

rar
Candidate Answer: [ NOT ANSWERED ]

Question 11.Five children are standing in a row. O is third from M who is standing left of N, and P is on the left of Q who is fourth from N. What is the position of P
from right?

Ui g9 U UTh # @S §1 0, M ¥ dRRT &, T N & a13if 3R @sT &1 P, Q & arii 3R &, St N & Tt &1 i 3R & P &1 €A1 HiA-A1 § ?
Options:

1) Third

GIEiRY

2) First

ggell

3) Fourth

gt

4) Second

RRy

Correct Answer: Second

L3Ry
Candidate Answer: Fourth
dtar
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Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

AFfafld el 3 8§ ag eg IAT I faw 10 e & H&RT BT U7 I A6l AT ST FehT ?
INTELLIGENCE

Options:

1) GENTLE

2) TEEN
3) GREEN

4) ENGINE
Correct Answer: GREEN
Candidate Answer: GREEN

Question 13.If "GOAT" is coded as "HPBU" , then how will "FROG" be coded as?

Ifg 'GOAT' @1 forelY Y5 3 'HPBU'for@r 51T eha &1 'FROG' 1 38 g 3 aFm ferar simaar ?
Options:
1) GSPH
2) PHSG
3) GSHP

4) PSHG
Correct Answer: GSPH
Candidate Answer: GSPH

Question 14.In a certain code language, '@' represents '+' , '@' represents '-' , 'a’ represents '+' and '0' represents 'x' . Find out the answer to the following question:

oY IS HTIT H @ T ATAT + &, DI AT - &, a BT AT + &, 3R 6F AT x | A Aeafafaa uar &1 31 HfSw)
8900010095644 121a11 = ?

Options:

1) 58

2) 62

3) 158

4) 205
Correct Answer: 58
Candidate Answer: [ NOT ANSWERED ]

Question 15.Some equations are solved on the basis of a certain system. On the same basis, find out the correct answer from amongst the four alternatives to the
unsolved equation

F FHEOT Teh AT JoTTell § &l fohT 77 &1 58 3MUR W gt 7 5 712 U1 Y & aeah 4w 970 fepedl & @ &1 3w gfaw ?
1x2x3=231

3x4x5=453

5x6X7=7?

Options:
1) 657
2) 675
3) 756

4) 765
Correct Answer: 675
Candidate Answer: 675

Question 16.Select the missing numbers from the given alternatives

f&u a1w faemeut 3 & o 36 AT Hfow ?

4 3 6
3 5 4
2 2 3

14 16

=)
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Options:
1) 12

2) 18
3)20

4) 30
Correct Answer: 30
Candidate Answer: 20

Question 17.Rajneesh started walking towards North. He took a left turn after walking 20 metres. He again took a right turn after walking 30 metres. Which direction
is he facing now?

TSTATRT & TR Y 3R el E fhaT| ae 20 FHiex ot & a1g 9w H{3 7127| 30 HeX Toial & a1g I T 8 &5 3R 7S 7| 58 AT ST Ied b [Gem 7 & ?

Options:
1) North
33X

2) East

kS

3) West
uffrey
4) South
A

Correct Answer: North
ELGES

Candidate Answer: North
ELGES

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. All books are trees. 2. All trees are lions. Conclusions: 1. All books are lions. II. All lions are books. III. All trees are books IV. Some lions are
books.

ATITRT U & U A1 &) aehey e I ¥, [T 3 IR fAveny/AeTany, 1, 11, 111 3R IV el a1 €| 31U e 6T & 1o awhed T & 918 g% A Ad
a2t & e udia &1aT &1 3Muep! fAoTr o & foF feT 910 axheg & & pia-a1 AfRd T Q T s/ AT=TdT [HepTell ST HehaT & ?

awhed : 1. G g gaT ¥
2. 9o a7 R B

vy : I Tl gead R ¥
I1 |3l R geash |

111 H3ft ga7 g &

IV %8 IR g&h 2

Options:

1) Only conclusions I and III follow
aer fasey 131 111 & ¥

2) Only conclusions I and IV follow
aer ey 1 3R IV & &

3) None of the conclusions follow
1S o Toreeny T A€ ¥

4) All conclusions follow

ot ey & &

Correct Answer: Only conclusions I and IV follow

oot Ry I 3R IV ad &

Candidate Answer: All conclusions follow

Il ooy T &

Question 19.In the given cube, which colour is opposite to Blue?

U 3T & et & AHS HiaT-a1 W7 § ?

Green Blue Vialet Yellaw

Green
Blue

Fed Red Fed Red

Yiellow
Wialet
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Options:
1) Green
XY

2) Red
ol

3) Violet
Joreiy

4) Yellow
drerr

Correct Answer: Yellow

e

Candidate Answer: Yellow

el

Question 20.Identify the relationship that best represents the relationship among classes given below:

IE 3G IATST S AeATART AT & T TE TFI=Y Y 27T

Professors, Women and Clerks

Options:
1)

o f’“\l
\9/' \_/

3)
ST
N

OO0
®

Correct Answer:

g
G

Candidate Answer:

QO
@

Question 21.Which answer figure will complete the pattern in the question figure?

PiA-HY 3T 3BT U4 3MepTd & Ufded &t qur Hah ?

-\'\ = '_}
\ N i
X N
N
N Z
b
P 5
/ A i
[+~

ereee
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Options:
1)
b
>
S
2)
o
SN
3)
T {
SN
4
.
4
=)
Correct Answer:
.
4
I

Candidate Answer:

I
o

\\1
et e

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& 71 3 Ipiat # F 38 IR Hpla F AT e us anpfa ARka & 2
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Options:
1)
2)

=1
3)

4)

Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

Ifg et rorer Y A RETT st & HFER ASHY dbreT AT A Wield F a5 T8 F6e e 3mpfa e fgars gom 2

—— e e e [P —— — —

I :tFold

i

_____,_____
I
i
|
i
|
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Options:

1)

2)

3)

4

Correct

Answel

Candidate Answer: [ NOT ANSWERED ]

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

T T T T MN Y@T OX TW@T AT a &7 318 3eR 3piaa 3 F Hia-8 3Mpia U4t 3npia o e fafass gefr ?

v/ / / / 7 /N

r:

preee
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Options:
1)

2
%‘1
3
K
2

4

Correct Answer:

-
-

§

Candidate Answer:

S

-
-

sl

Question 25.A word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are numbered from 5
to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'D' can be represented by 01, 13, etc., and 'H' can be represented

by 55, 67, etc.
Similarly you have to identify the set for the word 'LIKE'

AFAfIfld us # Ue 21eg had T HEAT- HHE §RT AT I1T &, ST o fadhedt 3 & fondlt wap 3 foam o ¥ | Rasweut 3 fqw a1w d%ar - dofg 18T & af aolf gry g

ereee

7T &, ST o oA few 91w &) 3eggl # ¥ 3eyg I & TaFH 3R Ufeh Fr ST 0 F 4 dF &1 718 & 3R IR L 57 9 A 54 Y@l & UH 3HER Hl Ugel 3T Gleh
3R a1E 3 TIFH FEAT §RT GRATAT AT FhT & | SETEXVT & forg, D Y 01, 13, 3fe gRT AT ST Al & aUT H &1 55, 67,377¢ gRT &A1 ST Hehell &1 S e & 3!

T 2reg; 'LIKE' & forw g ol UedTeeTr &1

MATRIX | MATRIX 11
0 1 2 3 4 3 ] 7
0 |€ |D |E |F |G 5 |H |K |L
1 F G |C D |E 6 [ N H
2 (D |E |F |G |C 7 [K |L |
3. |E F |G |C |D 8 |L |I N
4 G |C D E F 9 N H K

Options:
1) 56, 58, 03, 02

2) 57, 65, 62, 02
3) 56, 62, 03, 02

4) 57, 68, 40, 02
Correct Answer: 57, 65, 62, 02
Candidate Answer: [ NOT ANSWERED ]
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Question 26.What is 'net neutrality'?

"AT FggIfere" FATE ?

Options:

1) Internet Service Providers and governments should treat all data on the internet equally

ge¥T Q4T UeTdr Hufadt (ISP) 3R TRHART #Y §eiae # UTT A1 arel Tl 31eT & TATY THT ¥0 F TTTeR AT AT
2) Piracy in internet must be curbed

SEXAT A HIY el BT AehedT TRT

3) Internet users must give out balanced opinions in social media sites

$TIACT SUHANHT DY AATTOID ATCIH W G ferd Uiafspar / feoaott &ar anfew|

4) Internet should be kept free from malware and virus

Faifed 3R FfAere AR 3R aRRE § e¥ee Ht Jh W A

Correct Answer: Internet Service Providers and governments should treat all data on the internet equally

ST QAT UeTdT Hufaar (ISP) 3R TRART HY Seiae # UTT S arel Tl 31eT & ATY FAT 37 I cIaeR T AT
Candidate Answer: Internet Service Providers and governments should treat all data on the internet equally

geXIT UAT UeTdT Hufadr (ISP) 3R TREBRT T §eiic H UTT AT arel [T 31eT & ATY TAT T7 I TIGER T deT

Question 27.Excise duty is levied on

3CUTG YYedh Tohd TR ST SITelT & 2
Options:

1) sale of goods

AT & fahr W

2) production of goods

HTl & ScUeH W

3) import of goods

HTST & AT T

4) export of goods

A & fa W™

Correct Answer: production of goods
HTS & 3cUTed W

Candidate Answer: export of goods

AT & AT W)

Question 28.Golden Revolution in India refers to growth of:

Fqof ifed forehT aod @ $Fd & 2
Options:

1) Militancy in the north-east.

FR-G H 397G

2) Oilseeds production

- P Scurge

3) Horticulture

qETATAT

4) Increased importing of gold

| & 3T # ded

Correct Answer: Oilseeds production
-t BT Ut

Candidate Answer: [ NOT ANSWERED ]

Question 29.Water is used in a hot water bag because

TR STA-IT A STl T YT fRAT ST § FIIR
Options:

1) It is easily available

I JrarE § e &

2) It has high specific gravity

T FARYE JFcarhyor SaeT &

3) It has high specific heat

qepT FARIE SeAT FTeT &

4) It is a liquid substance

I Teh ool Uerd &

Correct Answer: It has high specific heat
SHET TATAT FCAT ST &

Candidate Answer: It has high specific heat
SHET ARAT FeAT S1eT &

Question 30.What is the meaning of "Public Interest Litigation"?

STefed T FT Ao T §?
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Options:

1) Anything of public interest

T off e St &

2) A case brought by victim to court, involving public interest.
N cafh gRT reTerd 3 SIfed 3 AT T2 AeheaT

3) A case brought by anyone to court involving public interest.
el zafth gRT 31aTerd # SeTfed 3 AT IAT FeheAT

4) A directive issued by Supreme Court involving public interest
Halea “araTerd gRT Siafed A SR fopam aram fAder

Correct Answer: A case brought by anyone to court involving public interest.
Tepelt =afeh gRT 31eTeld 3 Sterfed 3 ST I Fehera
Candidate Answer: Anything of public interest

Fo A fowst safea o
Question 31.Who referred to Mahatma Gandhi as "Father of the Nation" for the first time?

T AT A T el "TERAT & A1 ¥ hee FE T fear ar?
Options:

1) Jawaharlal Nehru

STATERelT A

2) Sardar Vallabh Bhai Patel

TER dodd HTS Teol

3) C. Rajgopalachari

ot TSrenaTeTaTT

4) Subhash Chandra Bose

Ao ar

Correct Answer: Subhash Chandra Bose
gHTITeg

Candidate Answer: Subhash Chandra Bose
GATTTeS O

Question 32.Which title, given by the British Government to Mahatma Gandhi, was surrendered during the non- cooperation movement?

35T (TARRr) TRBR GRT FelcaT aMTel &Y &) 7 RleT W Ted) Iraeer 3Micela & TH aler &y 18 2AM?
Options:

1) Hind Kesari

g Fadr

2) Rai Bahadur

REERIY

3) Rt. Honourable

ST TRl

4) Kaiser-e-Hind

FR-u-Re

Correct Answer: Kaiser-e-Hind
Fm-u-feg

Candidate Answer: Hind Kesari

g HEd
Question 33.The temperature of a liquid is 32° F. What is its temperature in Celsius scale?

I T TR UeTd &7 dATUHAT 32° F & Y AafQgd 3 SHepr argare fohcerr &2

Options:
1)32°C

2)0°C
3) 100° C

4)212°C
Correct Answer: 0° C
Candidate Answer: 100° C

Question 34.The point where total mass of a body is supposed to be concentrated is known as

R T T AT FHH IR 2R T THET AR fegd 2T &, Te 76a A1 & ST Siem & ?
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Options:

1) Dead centre

EERIIAY

2) Centre of mass

Hee HATH A

3) Centre of gravity

HeeX HTH Afadr

4) Centre of motion

HeeX H® A

Correct Answer: Centre of mass
Hee ATH A

Candidate Answer: Centre of gravity

[eeX 36 A

Question 35.Which part of brain is also known as "little brain"?

HAFETS &b BTN REQ Y "o ATEASR"S AT F o ST S0 & ?
Options:

1) Cerebrum

ane

2) Cerebellum

oA

3) Thalamus

YTelTHAH

4) Hypothalamus

[ CIER)

Correct Answer: Cerebellum

R RCer
Candidate Answer: [ NOT ANSWERED ]

Question 36.Which organism is responsible for alcohol fermentation?

Hierar g 3redred fhvae aar ¢ ?
Options:

1) Chlorella

FAReel

2) Yeast

Aree (@AR)

3) Agaricus

wIREa

4) Puccinia

oM

Correct Answer: Yeast
Iree (@HR)

Candidate Answer: Yeast

Aree (@aHR)

Question 37.Which of the following groups of rivers have their source of origin in Tibet?

AFfafld 3 @ fobar 78 Tag! o1 foead i Sfedt BT & ?
Options:

1) Brahmaputra, Indus & Sutlej

serg, Ay 3R aeerst

2) Ganga, Sutlej & Yamuna

9T, Hefetol 3R TagaT

3) Brahmaputra, Ganga & Sutlej

ST, I1am 3R Aerar

4) Chenab, Ravi & Sutlej

R, Tt AR Taest

Correct Answer: Brahmaputra, Indus & Sutlej
sErg, Y 3R Acterst

Candidate Answer: [ NOT ANSWERED ]

Question 38.The most ideal region for the cultivation of cotton in India is

HUTE HT W & T 9RT F Fa8 3997 UL Hlaar &2
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Options:

1) The Brahmaputra Valley

ERFERIC

2) The Deccan Plateau

GFhel T TSR

3) The Indo-Gangetic Valley
R=y-7om =mer

4) The Rann of Kutch

T 3T Fes

Correct Answer: The Deccan Plateau
GFchel T ToR

Candidate Answer: The Rann of Kutch
A 3HF Fes

Question 39.Where do the electrical charges reside in a charged conductor?

e 3T HaTes uard 3 fagd i @l el &2
Options:

1) at the core

HET oo F

2) throughout the body

QWA

3) depended upon the nature of the body

MR Fr gpfa W AR a=r &

4) outer surface of the body

Il T W

Correct Answer: outer surface of the body

aTEY T W

Candidate Answer: depended upon the nature of the body

AR FY Tpfar W IR el &

Question 40.The colour of the ocean appears to be blue because the sunlight falling on it is

HAE BT 1 Arell B@dT ¢ i sad s AR aelr g@ frfoporar _ @arg |
Options:

1) reflected

WRTade

2) refracted

eem-uRada

3) diffracted

fada

4) scattered

Tehrote

Correct Answer: scattered

IO

Candidate Answer: reflected

WRTada

Question 41.In which mode can the computers that are associated send frames directly to each other?

R G2l (A15) 3 Heifdd Phryed Teh g@y @l b WY AT Tl & ?
Options:

1) Adhoc mode

TSElE Al

2) Infrastructure mode

SABRCFIR A5

3) Structured mode

TS A

4) Anonymous mode

AT A

Correct Answer: Adhoc mode

TSEd AlS

Candidate Answer: [ NOT ANSWERED ]

Question 42.What was the immediate cause of the Mutiny of 1857?

1857 o hifct &l ATceplTeleh chIROT T 24T ?
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Options:

1) The discontentment of the soldiers

STt F JEGEA

2) The use of greased cartridges in the new Enfield Rifle

TS TAHTeS TSl 3 TRET STl Mot &1 suheT

3) The social conditions of India

AR & FIATTAD IaEAT

4) The introduction of railways and telegraphs

a3 ot fr gesna

Correct Answer: The use of greased cartridges in the new Enfield Rifle
TS TR TSl 3 TRET STIRAT MR a1 SuhaT

Candidate Answer: The use of greased cartridges in the new Enfield Rifle

T TAHIeS TSl 3 TR o9 Mot 1 suAT

Question 43.Who introduced the "Doctrine of Lapse" to expand British territories in India?

ARA # fofeer A= @1 hellel & 3527 ¥ fhde "slacld 3w arew” fagred o9 foram ar?
Options:

1) Lord Hastings

2) Lord Wellesley

oS Jorgelt

3) Lord William Bentinck

4) Lord Dalhousie

oS sorels

Correct Answer: Lord Dalhousie
S sorgisl

Candidate Answer: Lord Dalhousie

S SerRisl

Question 44.HRIDAY scheme launched by Urban Development Ministry aims at

AT FIeTH FATET R "gaT" AT YT B DT 597 &7 &7
Options:

1) Education of girl child

gfoaar & frar

2) Development of smart cities

TATC AR T Faepry

3) Urban sewage treatment

TR AT gMIT

4) Development of heritage sites

HiEpTas YA Td TUTAT 1 faehra

Correct Answer: Development of heritage sites
FEpiasd It Td TAT=T 1

Candidate Answer: Urban sewage treatment

FIRTT I g

Question 45.Global warming is expected to result in

"reae arfder & A F & o oftome sf@a ¥ ?
Options:

1) Increase in sea level

o T A

2) Change in crop pattern

TG H TG

3) Change in coastal line

¢ Y@ # Jeaa

4) All of these

|t fadeT T &

Correct Answer: All of these
T e TEr &

Candidate Answer: All of these
ot e TRy %

Question 46.Who appoints and dismisses the gazetted officials of the Union Government?

HET THR & TorafAa Rt o feafafad # & sia fags ik guied & daar § ?
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Options:

1) The President of India

HR & Tgufa

2) The Prime Minister of India
AR & TUTeT FAT

3) The Home Minister of India
AR & I A

4) The Finance Minister of India
AR & faa &

Correct Answer: The President of India

AR & Tgafa

Candidate Answer: The President of India

HRT & Tgufa

Question 47.The industry having the largest investment in Indian Economy is?

AR 3rdegaran 3 Aeafafld 3 F Hlaw s30T 3 Fad Farer fFaer o mar § 2
Options:

1) Tea

I

2) Cement

T

3) Steel

FEqTdT

4) Jute

qcad

Correct Answer: Steel
FEqTd

Candidate Answer: Steel
ST

Question 48.Ajanta Ellora Caves are situated near which of the following cities?

Tl TART Y T AeAforiad 3 § Dl F T & a8 Feud 82
Options:

1) Mount Abu

HA3=C 37T

2) Aurangabad

3iRamaTe

3) Bijapur

4) Madurai

RS

Correct Answer: Aurangabad
FiRamerg
Candidate Answer: [ NOT ANSWERED ]

Question 49.Which of the following is a name of US Parliament?

AR TG P ATH T & ?
Options:

1) Diet

B ET

2) Senate

e

3) Congress

Gape:)

4) House of Commons
T3 36 FiAH

Correct Answer: Congress

GapE)

Candidate Answer: Senate

Aae

Question 50.Charles Correa is a renowned Indian

TeH PINAT T HRAT TATATE B
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Options:

1) Freedom fighter

FaAFAT FeATAT

2) Painter

IBECTES

3) Architect, urban planner

AEGPR, FAIR AISTAT FAAT (TelTe)

4) Award winning doctor

QUEpd STFeT

Correct Answer: Architect, urban planner
IREIDPR, IR ASTAT fAAT (TelTer)
Candidate Answer: [ NOT ANSWERED ]

Question 51.A father can do job as fast as 2 sons working together. If one son does the job in 3 hours and the other in 6 hours, the number of hours taken by the
father, to do the job alone is

T AT 3T STedl foRelt 1ot Y Y TehelT & FoIcTell STed! 38 af O fAert & Fevd &1 AT Teh JeT 3 T 3 1o aX TehelT & 3R gERT 6 TUC H T FeheTl & Al 38
IH Pl Lt 3 TAAT Y bt Ty o3t ?

Options:
1)1

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 52.The perimeter of a rhombus is 240 m and the distance between any two parallel sides is 20 m. The area of the rhombus in sq.m. is

T FHAGHST BT URATT 240 Y. ¥ 3R Al & FHIAX I3t & drer br g 20 3. ¥ TS 1 aTAhe fohce aefefex ¥ ?

Options:
1) 600

2) 1200
3) 2400

4) 4800
Correct Answer: 1200
Candidate Answer: [ NOT ANSWERED ]

Question 53.A man sold an article for Rs. 450, after allowing a discount of 16 2/3 % on the printed price. What is that printed price?

T T A Fied Aed W 16 2/3 % HT ge & & a1g H1s awg Rs. 450 F I | e Fea Recen & 2

Options:
1) Rs.525

2) Rs.530
3) Rs.535

4) Rs.540
Correct Answer: Rs.540
Candidate Answer: [ NOT ANSWERED ]

Question 54.A sum of Rs. 770 has been divided among A, B, C in such a way that A receives 2/9 th of what B and C together receive. Then A's share is

Rs. 770 @Y A,B,C # 38 yaR fasnfara foram arar ¥ 6 fSaear 91 B 3R C Y [remex e s@er 2/9 at Reear A &t fverm| A o feeam fhgar & 2

Options:
1) Rs.140

2) Rs.154
3) Rs.165

4) Rs.170
Correct Answer: Rs.140
Candidate Answer: [ NOT ANSWERED ]



www.prepp.in prepp

Question 55.A man bought 4 dozen eggs at X 24 per dozen and 2 dozen eggs at X 32 per dozen. To gain 20% on the whole, he should sell the eggs at

T HTEH F 4 T TS X 24 T Goted AAT 2 Goted 3703 R 32 U gotel & 31T & WS | ool HUST TR 20% T AT UTC et 6 T a1 30t &bt e 71T o w2
Options:

1) X 16 per dozen

% 16 i goleT

2) % 21 per dozen

% 21 Ui goleT

3) % 32 per dozen

% 32 Ui goleT

4) X 35 per dozen

% 35 Ui goieT

Correct Answer: X 32 per dozen

Z 32 ufd gori et
Candidate Answer: [ NOT ANSWERED ]

Question 56. P's salary is 25% higher than Q, what percentage is Q's salary lower than that of P?

P &7 AT Q & ad & 25% 37 &1 Q T A= P & AT & el % dHAE ?

Options:
1) 20

2) 29
3)31

4) 3313
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

Question 57.A and B start running at the same time and from the same point around a circle. If A can complete one round in 40 seconds and B in50 seconds, how
many seconds will they take to reach the starting point simultaneously?

A 3R B Th & o W 3R Teh & g & gt & TRT 3R gl Y& et & Ffer A Teh TerhT 40 Hehvs 3 91T 3iR B 50 WehUs & 91T, of 3¢ URTFHD fdig W Teh
1Y ygae # Rhcie Farg w9 ?

Options:
1) 10

2) 200
3) 90

4) 2000
Correct Answer: 200
Candidate Answer: [ NOT ANSWERED ]

Question 58.
1 _1 .
Ifx—a—athevalueof3x(x Pl

A x— == @ ax (x— ) T A A E 2

Options:
1)-1
2)1
3)-2

4)2
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 59.

1 1
IfP =3+—,thevalueof p* +— is:
P p*

afgp = 3+% a‘ra‘r;:u%aa‘rm?rw%?:
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Options:
1)81

2) 27
3) 120

4) 119
Correct Answer: 119
Candidate Answer: [ NOT ANSWERED ]

Question 60.AABC is an isosceles triangle with AB = AC = 15 cm and altitude from A on BC is 12 cm. Length of side BC is

AABC T garfgaTg feget & freept AB = AC = 15 @7 31 BC W A & i &g 12 9.3l 1 3T BC &1 orars fopetelt & ?

Options:
1) 9 cm
9 ..
2)12cm
1284
3) 18 cm
18 a4
4) 20 cm
20 §.70.

Correct Answer: 18 cm

18 &4,
Candidate Answer: [ NOT ANSWERED ]

Question 61.The mid points of AB and AC of a triangle ABC are respectively X & Y. If BC + XY = 12 units, then the value of BC - XY is:

Teh 9751 ABC & AB 3R AC & #¢d fdeg shater: X 3R Y ¥1 3¢ BC + XY = 12 Jfeie &1 & BC - XY &1 A fohetat & ?

Options:
1) 2 units

23

2) 6 units

6 Jfae

3) 8 units

8 e

4) 4 units

4 n

Correct Answer: 4 units
4 lj

Candidate Answer: [ NOT ANSWERED ]

Question 62.
Which of the following relations is correct for 0 < 8 < 90°7

0 < 6 < 90° & ToT AeATeEa # T Hia-ar T agis ?

Options:
1) sind = sin%0

2) sinf < sin%0
3) sind > sin%6

4) sinB = cosecH
Correct Answer: sinf > sin20
Candidate Answer: [ NOT ANSWERED ]

Question 63.The difference between two numbers is 9 and the difference between their squares is 207. The numbers are

a1 T3t & i 3R 9 § 3R 3% auit & i 3R 207 ¥ TEAd FAr E ?

Options:
1)17,8

2) 16, 7
3) 15,6

4) 23, 14
Correct Answer: 16, 7
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Candidate Answer: [ NOT ANSWERED ]

Question 64.The average of 20 numbers is calculated as 35. It is discovered later on that while calculating the average, one number, namely 85, was read as 45. The
correct average is

20 T&aT3it @ 3ad 35 aRepford forar aam &1 a1 F I% @ 7137 76 3 &1 aReveld aRa TFT Ueh TEAT 85 B ITeicT & 45 UeT 317 AT| & iaa = ¢ ?

Options:
1) 36

2) 36.5

3) 37

4)37.5

Correct Answer: 37

Candidate Answer: [ NOT ANSWERED ]

Question 65.If x2 - xy + y2 = 2 and x* + x2y2 + y* =6, then the value of x% + xy + y? is:

X2 -xy +y2 =2 3Rt + x2 ryt =@ A X + xy + Y2 HT AT FAE ?

Options:
1)1

2) 12
3)3

4) 36
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

Question 66.If a2 + 13b2 + c2 - 4ab - 6bc = 0, then a:b:c is

Ifg a2 + 13b2 + 2 - 4ab - 6bc = 0, ¥ a:b:c & AF FT & ?

Options:
1) 1:2:3

2)2:3:1
3)2:1:3

4) 1:3:2
Correct Answer: 2:1:3
Candidate Answer: [ NOT ANSWERED ]

Question 67.The circum-centre of a triangle ABC is O. If 2BAC = 85°, BCA = 75°, then £OAC is of

Teh TX9ST ABC T URahes; O 1 Ifg 2BAC = 85°, £BCA = 75°, &Y LOAC Rbetelr grom ?
Options:
1) 70°

2) 72°
3) 75°

4) 74°
Correct Answer: 70°
Candidate Answer: [ NOT ANSWERED ]

Question 68.Radius of the incircle of an equilateral AABC of sides 2V3 units is x cm. The value of x is

2V3 e aTel Teh HardTg AABC & 3 et o oam x Q.. & &t x o1 e o/ & 2

Options:
1) %

2) >
3)1

4) V3
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]
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Question 69.
If tan3 6.tan7 & = 1,then the value of tan(@ + 36°)is

ATE tan3 8. tan7 @ = 1,51 dltan(d + 36°) FIAFFATL ?

Options:
1) Yys

2)0
3)1

4)V3
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 70.If the angle of elevation of a cloud from a point 200 m above a lake is 30° and the angle of depression of its reflection in the lake is 60°. Then the
height of the cloud above the lake is

I T el & 200 Y W & foig @ Areel &7 Seetaret Hior 30° 3R e 3 36® Trachet &1 JHaafal HoT 60° &, Al Siel & FW et 1 Sars fveh & ?
Options:

1) 100 m

100 #.

2) 200 m

200 3.

3)300m

300 3.

4) 400 m

400 #.

Correct Answer: 400 m
400 #.

Candidate Answer: [ NOT ANSWERED ]

Question 71.The difference between the simple interest and compound interest (compounded annually) on Rs. 40,000 for 3 years at 8% per annum is

8% ufday Pr g¥ IX Rs. 40,000 &7 3 IV & ATYROT e4Ta1 AR Tehgig <arst (o ufday gaford foram Sirar &) &1 3a] e & ?

Options:
1) Rs.684.32

2) Rs.788.48
3) Rs.784.58

4) Rs.4000
Correct Answer: Rs.788.48
Candidate Answer: [ NOT ANSWERED ]
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Question 72.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.

AFafafEd urg-are & a¥ 1994-96 & AW aeal H FawEar F faavor gerar 737 §| us-are &1 3egg" fifaw 3R Reafaf@a uat o scaw dfSv |
P4
2
3
}-]
E!

E =
E
O
r_n.|
Language disorder Auditory disorder
857 871
Speech disorder
275

Voice disorder
222

Find the approximate percentage distribution of children with auditory disorder.

AOT ATT aTel gl el JTTATIT Ufare fawor «fid fHifaw ?
Options:
1) 43.7%
2) 42.7%
3) 41.7%
4) 40.7%

Correct Answer: 41.7%

Candidate Answer: [ NOT ANSWERED ]

Question 73.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.
Rrafaf@d urs-arc 3 a¥ 1994-96 & AW swat fir siwEar &1 faazor geifar 7 ¥ | us-are o1 3reaa fifew 31 PAeafaf@a ueEt @ scar ST |
T
3
S
[
E!
E 2
i
£-=5
[}
Language disorder Auditory disorder
657 871
Speech disorder
275

Voice dizsorder
222

a¥ 1994-96 F Rfde= UpR & AW a=at fir it Twar frae &2
Options:
1) 417

What is the average number of cases in different types of special children during the year 1994-96.
2) 413
3) 433

4) 465
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Correct Answer: 417

Candidate Answer: [ NOT ANSWERED ]

prepp
Question 74.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.
RAfaad urs-arc 3 a¥ 1994-96 & AW <=t fir SiHEar F1 fAdRor ST 73 ¥ urs-Tne o1 3read HifeT 3R PHeafai@a uat @1 scar ST |
T
E
<
[
£
e =
E
[=9
)
Language disorder Auditory disorder
857 871
Speech disorder
275

Voice dizorder
222

Find the ratio between articulatory disorder and speech disorder cases.

STAROT 4T 3R aTeh AT arer aedt & T 3gaTd g Hifory ?
Options:

1) 21:55

2) 55:21

3) 55:12

4) 12:55

Correct Answer: 12:55

Candidate Answer: [ NOT ANSWERED ]

Question 75.The pie-chart shows Distribution of Special Children Population during the year 1994-96. Study the pie-chart and answer the following questions.
Rrafaf@d urs-arc 3 a¥ 1994-96 & AW gwat fir siwEar &1 faazor g ar 7 §| urs-are o1 3reaa fifew 31 Peafaf@a ueat @ scar ST |

T
3
S
[
E!

B 2
i
£-=5
[}

Language disorder Auditory disorder
657 871
Speech disorder
275

Voice disorder
222

What is the ratio between language disorder and the average of the remaining disorder cases

TaT AT 3 areht AT arer aredt & A T 3T e 82
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Options:
1) 219:119

2) 119:219
3) 919:419

4) 729:529
Correct Answer: 219:119
Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

COPIOUS

Options:

1) VAST

2) IDENTICAL

3) PLENTIFUL

4) MESSY

Correct Answer: PLENTIFUL

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button
corresponding to it.

EXTRANEOUS

Options:

1) UNUSUAL

2) DISPIRITED

3) RELEVANT

4) INTRUSIVE

Correct Answer: RELEVANT

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) discripency

2) discripancy

3) discrepancy

4) descripancy

Correct Answer: discrepancy

Candidate Answer: discrepancy

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The Statesman has(A)/the largest circulation of any (B)/English dailies.(C)/No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: D

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

A period of six years(A)/ have elapsed(B)/ since I last saw her.(C)/No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

For several years now(A)/my newspaper agent has been spelling(B)/my name in correctly.(C)/No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: A
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Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

One of the reasons the impressionists caused such a scandal was their colours were too bright.
Options:

1) because of which

2) due to

3) because

4) of

Correct Answer: because

Candidate Answer: due to

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

She must sometimes to run away.
Options:

1) has wanted

2) have wanted

3) having want

4) has want

Correct Answer: have wanted

Candidate Answer: have wanted

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The bank decided to them the money as they were reliable clients.
Options:

1) let

2) lend

3) borrow

4) lease

Correct Answer: lend

Candidate Answer: lend

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Smooth ruffled feathers

Options:

1) Comb untidy hair

2) Make people feel less offended

3) Tousle someone's hair

4) Stroke a pet animal

Correct Answer: Make people feel less offended
Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Assume airs
Options:

1) Take tight

2) Remain calm

3) Act innocent

4) Pretend superiority

Correct Answer: Pretend superiority
Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Play truant

Options:

1) Play a tyrant

2) Stay away from duty
3) Be responsible

4) Be alert

Correct Answer: Stay away from duty
Candidate Answer: Be responsible

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who studies the working of the human mind.
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Options:

1) Anthropologist

2) Psychologist

3) Neurologist

4) Ethnologist

Correct Answer: Psychologist

Candidate Answer: Psychologist

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Place given to soldiers to live in
Options:

1) Barracks

2) Trench

3) Garage

4) Quay

Correct Answer: Barracks
Candidate Answer: Barracks

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person of South African Dutch descent
Options:

1) Boar

2) Boer

3) Boor

4) Bore

Correct Answer: Boer

Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

She took the cycle which he bought yesterday.
Options:

1) that he bought yesterday.

2) that he had bought yesterday

3) that he has bought yesterday

4) No Improvement

Correct Answer: that he had bought yesterday
Candidate Answer: that he had bought yesterday

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I must say to a feeling of uneasiness.
Options:

1) confess

2) connive

3) utter

4) No Improvement

Correct Answer: confess
Candidate Answer: utter

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The police booked a case against the taxi driver for wrong parking.
Options:

1) restricted

2) wrote

3) filed

4) No Improvement

Correct Answer: filed

Candidate Answer: filed

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

One of our students originates from Leh.
Options:

1) comes

2) origins

3) belongs

4) No Improvement

Correct Answer: comes

Candidate Answer: comes
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Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Scarcely_had he left the place when his friend came.
Options:

1) He had scarcely leave

2) He had left scarcely

3) He scarcely had left

4) No Improvement

Correct Answer: No Improvement
Candidate Answer: He had left scarcely

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and his
heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

The young seagull dived at the fish
Options:

1) maddened by anger

2) maddened by want

3) out of spite

4) out of loneliness

Correct Answer: maddened by want

Candidate Answer: maddened by want

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and his
heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

His heart stood still because he was seized by
Options:

1) a monstrous fury

2) courage

3) a monstrous terror

4) joy

Correct Answer: a monstrous terror
Candidate Answer: a monstrous terror

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and his
heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

He was not falling headlong but

Options:

1) he was afraid

2) he was soaring downwards and outwards

3) his stomach was full

4) he was joining his father

Correct Answer: he was soaring downwards and outwards
Candidate Answer: he was soaring downwards and outwards
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Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and his
heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

The seagull just felt dizzy

Options:

1) and was filled with fear

2) and was no longer afraid

3) and did not flap his wings anymore
4) and dived lower

Correct Answer: and was no longer afraid
Candidate Answer: and was no longer afraid

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

He waited a moment in surprise, wondering why she did not come nearer, and then, maddened by hunger, he dived at the fish. With a loud scream he fell outwards
and downwards into space. His mother had soared upwards. As he passed beneath her, he heard the swish of her wings. Then a monstrous terror seized him and his
heart stood still. He could hear nothing. But it only lasted a moment. The next moment, he felt his wings spread outwards. The wind rushed against his breast
feathers, then under his stomach and against his wings. He could feel the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards.

He was no longer afraid. He just felt a bit dizzy. Then, he flapped his wings once and he soared upwards. he uttered a joyous scream and flapped them again. He
soared higher. He raised his breast and banked against the wind. His mother swooped past him, her wings making a loud noise. He answered her with another
scream.

What did the young seagull do when his mother swooped past him?
Options:

1) Let out a joyous scream

2) Screamed at her in anger

3) Made a loud noise

4) Flapped anxiously

Correct Answer: Let out a joyous scream

Candidate Answer: Let out a joyous scream





